Unequal Triangles

It is possible to get the area of any triangle once you have the length of
each of the three sides by using the following formula:

Area =V s(s-a)(s-b)(s-c) where s=a+b+c
2
Q. 1(Example): s=za+b+c Area = v s(s-a)(s-b)(s-c)
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Unequal Triangles (continued)
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Unequal Triangles (answers)

10+9+8=27/2 =13.5

8+13+17=38/2 =19

9+11+7=27/2 =13.5

10+11+5=26/2 =13

13+10+11=34/2 =17

3+5+6= 14/2 =7

6.3+4.2+5.5=16/2 =8

7+7+12=26/2 =13

6+6+6= 18/2 =9

8+8+8= 24/2 =12

9+5+5=19/2 =9.5

6+5+7=18/2 =9

3+8+6=17/2 =8.5

4+6+9=19/2 =9.5

12+12+4=28/2 =14

Y2x5x5=1252

% x 17 x 8 =682

% x 13 x 10 = 652

6.5+5.5+7=19/2 =9.5
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